Warm-up: Triangle congruence, angles, sides, shortcuts, reasons

(

1) EF corresponds to
7) Give four corresponding congruent parts

2) £E corresponds to : in the two triangles:

3) Name £ 1 with 3 letters:

4) Name 22 with 3 letters.

5) Which sides are congruent because Fis 8) Since the triangles are congruent, what
the midpoint of 6I? . . other two parts are now congruent?
6) AEFI=A by
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F is the midpoint of GI
1) EF corresponds to H F
) 7) Give four corresponding congruent parts
2) «£E corresponds to Z— H in the two triangles:
A =
3) Name £ 1 with 3 letters: L{ZFL E = L¢7
4) Name £2 with 3 letters. L(J FH Xf_ :N("—\:-“"
| Y = ET
5) Whicl"t sides are congruent because F is 8) Since the triangles are congruent, what
the midpoint of GI? }? {—,:z' _ other two parts are now congruent?
o =z | A )
6) AEFI=a_DF0 by 255 LE=LH
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